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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3662 ±Constant = 3.383 

 0.6671 ±Mean     = 115.4 

 0.4717 ±Sigma    = 7.548 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3662 ±Constant = 3.383 

 0.6671 ±Mean     = 115.4 

 0.4717 ±Sigma    = 7.548 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3511 ±Constant = 3.243 

 0.6959 ±Mean     = 113.9 

 0.4921 ±Sigma    = 7.874 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3511 ±Constant = 3.243 

 0.6959 ±Mean     = 113.9 

 0.4921 ±Sigma    = 7.874 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3396 ±Constant = 3.137 

 0.7195 ±Mean     = 115.1 

 0.5087 ±Sigma    =  8.14 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3396 ±Constant = 3.137 

 0.7195 ±Mean     = 115.1 

 0.5087 ±Sigma    =  8.14 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3708 ±Constant = 3.426 

 0.6588 ±Mean     =   115 
 0.4658 ±Sigma    = 7.454 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3708 ±Constant = 3.426 

 0.6588 ±Mean     =   115 
 0.4658 ±Sigma    = 7.454 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3654 ±Constant = 3.375 

 0.6686 ±Mean     = 114.7 
 0.4728 ±Sigma    = 7.564 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3654 ±Constant = 3.375 

 0.6686 ±Mean     = 114.7 
 0.4728 ±Sigma    = 7.564 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3325 ±Constant = 3.072 

 0.7346 ±Mean     = 115.3 
 0.5193 ±Sigma    = 8.311 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3325 ±Constant = 3.072 

 0.7346 ±Mean     = 115.3 
 0.5193 ±Sigma    = 8.311 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.444 ±Constant = 22.58 
 0.09994 ±Mean     = 51.28 
 0.07067 ±Sigma    = 1.131 

Chip 0 Gain at 2.00fC Nent = 128    

 2.444 ±Constant = 22.58 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.172 ±Constant = 20.07 
 0.1125 ±Mean     = 50.38 
 0.07952 ±Sigma    = 1.272 

Chip 1 Gain at 2.00fC Nent = 128    

 2.172 ±Constant = 20.07 
 0.1125 ±Mean     = 50.38 
 0.07952 ±Sigma    = 1.272 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.715 ±Constant = 25.08 
 0.08999 ±Mean     =  49.6 
 0.06363 ±Sigma    = 1.018 

Chip 2 Gain at 2.00fC Nent = 128    

 2.715 ±Constant = 25.08 
 0.08999 ±Mean     =  49.6 
 0.06363 ±Sigma    = 1.018 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.808 ±Constant = 25.94 

 0.08699 ±Mean     = 51.24 

 0.06151 ±Sigma    = 0.9842 

Chip 3 Gain at 2.00fC Nent = 128    
 2.808 ±Constant = 25.94 

 0.08699 ±Mean     = 51.24 

 0.06151 ±Sigma    = 0.9842 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.738 ±Constant = 25.29 

 0.08923 ±Mean     = 50.57 

 0.06309 ±Sigma    = 1.009 

Chip 4 Gain at 2.00fC Nent = 128    
 2.738 ±Constant = 25.29 

 0.08923 ±Mean     = 50.57 

 0.06309 ±Sigma    = 1.009 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.165 ±Constant =    20 
 0.1128 ±Mean     = 50.12 

 0.07979 ±Sigma    = 1.277 

Chip 5 Gain at 2.00fC Nent = 128    
 2.165 ±Constant =    20 
 0.1128 ±Mean     = 50.12 

 0.07979 ±Sigma    = 1.277 
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Chip 0 Extrapolated Offset Nent = 128    
  1.28 ±Constant = 11.82 

 0.6108 ±Mean     = 12.97 
 0.4319 ±Sigma    = 6.911 

Chip 0 Extrapolated Offset Nent = 128    
  1.28 ±Constant = 11.82 

 0.6108 ±Mean     = 12.97 
 0.4319 ±Sigma    = 6.911 
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Chip 1 Extrapolated Offset Nent = 128    
 1.265 ±Constant = 11.69 

 0.6179 ±Mean     = 13.08 
 0.4369 ±Sigma    = 6.991 

Chip 1 Extrapolated Offset Nent = 128    
 1.265 ±Constant = 11.69 

 0.6179 ±Mean     = 13.08 
 0.4369 ±Sigma    = 6.991 
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Chip 2 Extrapolated Offset Nent = 128    
 1.102 ±Constant = 10.18 

 0.7093 ±Mean     = 16.52 
 0.5015 ±Sigma    = 8.025 

Chip 2 Extrapolated Offset Nent = 128    
 1.102 ±Constant = 10.18 

 0.7093 ±Mean     = 16.52 
 0.5015 ±Sigma    = 8.025 
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Chip 3 Extrapolated Offset Nent = 128    

  1.15 ±Constant = 10.62 
 0.6798 ±Mean     = 12.28 
 0.4807 ±Sigma    = 7.692 

Chip 3 Extrapolated Offset Nent = 128    

  1.15 ±Constant = 10.62 
 0.6798 ±Mean     = 12.28 
 0.4807 ±Sigma    = 7.692 
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Chip 4 Extrapolated Offset Nent = 128    

 1.245 ±Constant =  11.5 
 0.628 ±Mean     = 13.18 
 0.444 ±Sigma    = 7.105 

Chip 4 Extrapolated Offset Nent = 128    

 1.245 ±Constant =  11.5 
 0.628 ±Mean     = 13.18 
 0.444 ±Sigma    = 7.105 
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Chip 5 Extrapolated Offset Nent = 128    

 1.076 ±Constant = 9.943 
 0.7263 ±Mean     = 15.17 
 0.5135 ±Sigma    = 8.217 

Chip 5 Extrapolated Offset Nent = 128    

 1.076 ±Constant = 9.943 
 0.7263 ±Mean     = 15.17 
 0.5135 ±Sigma    = 8.217 
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Chip 0 Input Noise at 2.00fC Nent = 128    
  4.52 ±Constant = 41.75 

 3.603 ±Mean     =  1721 

 2.548 ±Sigma    = 40.77 

Chip 0 Input Noise at 2.00fC Nent = 128    
  4.52 ±Constant = 41.75 

 3.603 ±Mean     =  1721 

 2.548 ±Sigma    = 40.77 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 4.587 ±Constant = 42.38 

  3.55 ±Mean     =  1726 

  2.51 ±Sigma    = 40.17 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.587 ±Constant = 42.38 

  3.55 ±Mean     =  1726 

  2.51 ±Sigma    = 40.17 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 4.039 ±Constant = 37.31 

 4.032 ±Mean     =  1732 

 2.851 ±Sigma    = 45.62 

Chip 2 Input Noise at 2.00fC Nent = 128    
 4.039 ±Constant = 37.31 

 4.032 ±Mean     =  1732 

 2.851 ±Sigma    = 45.62 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 5.176 ±Constant = 47.81 
 3.147 ±Mean     =  1671 
 2.225 ±Sigma    =  35.6 
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 5.176 ±Constant = 47.81 
 3.147 ±Mean     =  1671 
 2.225 ±Sigma    =  35.6 

Input Noise (ENC)0 500 1000 1500 2000 2500
n

(C
h

an
n

el
s)

0

5

10

15

20

25

30

35

40

Chip 4 Input Noise at 2.00fC Nent = 128    

   4.4 ±Constant = 40.65 
 3.701 ±Mean     =  1675 
 2.617 ±Sigma    = 41.87 

Chip 4 Input Noise at 2.00fC Nent = 128    

   4.4 ±Constant = 40.65 
 3.701 ±Mean     =  1675 
 2.617 ±Sigma    = 41.87 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 4.021 ±Constant = 37.15 
  4.05 ±Mean     =  1716 
 2.864 ±Sigma    = 45.82 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.021 ±Constant = 37.15 
  4.05 ±Mean     =  1716 
 2.864 ±Sigma    = 45.82 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3614 ±Constant = 3.338 

 0.6761 ±Mean     = 115.7 

 0.478 ±Sigma    = 7.649 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3614 ±Constant = 3.338 

 0.6761 ±Mean     = 115.7 

 0.478 ±Sigma    = 7.649 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3905 ±Constant = 3.607 

 0.6257 ±Mean     = 113.7 

 0.4424 ±Sigma    = 7.078 
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 0.3905 ±Constant = 3.607 

 0.6257 ±Mean     = 113.7 

 0.4424 ±Sigma    = 7.078 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3593 ±Constant = 3.319 

 0.6799 ±Mean     = 116.1 

 0.4807 ±Sigma    = 7.692 
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 0.3593 ±Constant = 3.319 

 0.6799 ±Mean     = 116.1 

 0.4807 ±Sigma    = 7.692 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3531 ±Constant = 3.257 

 0.6929 ±Mean     = 118.6 
 0.4901 ±Sigma    = 7.839 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3531 ±Constant = 3.257 

 0.6929 ±Mean     = 118.6 
 0.4901 ±Sigma    = 7.839 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.1698 ±Constant = 1.548 

 1.479 ±Mean     = 103.7 
 1.102 ±Sigma    = 16.54 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.1698 ±Constant = 1.548 

 1.479 ±Mean     = 103.7 
 1.102 ±Sigma    = 16.54 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3516 ±Constant = 3.239 

 0.6967 ±Mean     = 115.8 
 0.493 ±Sigma    = 7.882 
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 0.3516 ±Constant = 3.239 

 0.6967 ±Mean     = 115.8 
 0.493 ±Sigma    = 7.882 
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 2.955 ±Constant =  27.3 
 0.08267 ±Mean     = 50.48 

 0.05845 ±Sigma    = 0.9353 
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 2.955 ±Constant =  27.3 
 0.08267 ±Mean     = 50.48 

 0.05845 ±Sigma    = 0.9353 
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 2.636 ±Constant = 24.35 
 0.09266 ±Mean     = 50.18 
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 2.474 ±Constant = 22.86 

 0.09874 ±Mean     = 51.26 

 0.06981 ±Sigma    = 1.117 
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 0.4917 ±Constant = 4.542 

 0.4969 ±Mean     = 48.57 

 0.3513 ±Sigma    = 5.622 
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Chip 2 Extrapolated Offset Nent = 128    
 1.203 ±Constant = 11.11 

 0.6498 ±Mean     = 11.47 
 0.4594 ±Sigma    = 7.351 

-60 -40 -20 0 20 40 60 80

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

Chip 3 Extrapolated Offset Nent = 128    
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 1.172 ±Constant = 10.83 
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  2.72 ±Mean     =  1730 

 1.923 ±Sigma    = 30.77 
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 4.405 ±Constant = 40.69 

 3.697 ±Mean     =  1711 

 2.614 ±Sigma    = 41.83 
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 4.485 ±Constant = 41.43 
 3.632 ±Mean     =  1687 
 2.568 ±Sigma    = 41.09 
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 3.006 ±Constant = 27.77 
 5.418 ±Mean     =  1614 
 3.831 ±Sigma    =  61.3 
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 3.006 ±Constant = 27.77 
 5.418 ±Mean     =  1614 
 3.831 ±Sigma    =  61.3 
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 4.025 ±Constant = 37.18 
 4.047 ±Mean     =  1662 
 2.861 ±Sigma    = 45.78 
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 4.025 ±Constant = 37.18 
 4.047 ±Mean     =  1662 
 2.861 ±Sigma    = 45.78 
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